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(@) A3 WM > FHHTS waH
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20X + 10Y = 500, 3< I 184 ymes' < €33 84 :
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G
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85 HH T (fBued) »3 88 °AH € (Flowdfsd) §3ues ess’ fag ot »39 I 2 »idy

TS G3UTTd 286 € 25 29 U< HiH3 §3u= @ »iud3 {58 | Aradt =93 a9 |
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(SECTION - B)

13. HEgT YIS 2 feg HIZ I3 : (At feasu 9e) 1
(a) o=dtEd
(b) VI &
© ()3 (b) <=

(d) WIIT

14. ‘U= T MIgI& ? 1

15.  ‘HEs™ (YEHA) wWe” AIIT 31 I& fefim ga37s agae et Bug B < 7393 J
(At feasy 9<) 1

(a) fowm a8
(b) fours 3 fese gHd I3
(c) IISTLIEE

(d) TBYHZISS
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17.  »yIs (Mg=) HaT <t A 578 fages © et “da =29 < 3fid miee | 3
u
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18. fea migg feeme feg C = 500 + 0.9 Y w3 I = ¥ 1000 437 (A=fa C = QU yg,
Y = I viHEs, [ = for) Ie I a3 : 3

(i) H3S&HA3I 3 IHI WHES

(i) fesmIEIT HS

19. SR EIT “TF T TI” IH AHSG | 4
Y
fea Aftm3va Bergae <t ATTfesT 7% HEd™ IS T A79H YIS AHE™S |
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(i) oIfEd HTfesT (HEfAST)
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(iii) &9 feds a6 Qua ¥ag
(iv) U8 fogHe Quayas
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feqa Hiv J | 4

22. I fofimi 2 39159 .

(a) WIBHET & neHSe (FBULHS) W3 U IJIH fSg nisg mume ad | 2

(b) FIT HIBS ST YTHUI T (ASTER) BT T M3 AHUAS (MEdS3T) BET BT g &
SIfE w3 I | fer vizg St vas3r T 2 4
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(i) () yd9fedt

() wHes fedft It gag i3 GuT 7o IHed Esue o 3y ad :

(i)  SFIHIID =T THIa3 &
(i)  fodt »ifa Qusarysg

(iii)  fagrfonr

(iv) FIIdt »ifaH Qusar ygg
(v) T

(vi) foum

(vii) I W Ut foaHe
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(i)

(it)

(iii)

(iv)

v)

(vi)

(vii)

g1 @vel & g4t go7 e & |

T J97 & G 37 37 T T8 |

J97 GEIT1 — 4 7T 13 — 16 371d TG I709 F97 &, 15779 3% 397 1 31% &1 & | G4t
Y71 & IR U i H & Il 8

9T GEITS — 6 K17 — 18 TIHIHH J97 &, (5770 J% & 3 37 & | JA% & I
G 60 915] & 37fer 787 g7 =R /|

T G 7 — 9 3R 19 — 21 i TIHRIAF 797 B, o778 §A% F 4 3% & | 5% HT
I G 70 5] @ 37fer 751 57 =0T |

57 GEIT10 — 12 37K 22 — 24 5 3707 397 &, (5578 T & 6 371% 5 | II% & I
G 100 151 & 371er 787 &7 =13 |

I GISTT TT TRITHS F17 FIET T4 JITTHT FTR & 75 9168 T 3 Al &1 15T 7
T |

General Instructions :

58/2

(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question numbers 1 — 4 and 13 — 16 are very short-answer questions carrying

1 mark each. They are required to be answered in one sentence each.

Question numbers 5 — 6 and 17 — 18 are short-answer questions carrying 3 marks

each. Answers to them should normally not exceed 60 words each.

Question numbers 7 — 9 and 19 — 21 are also short-answer questions carrying

4 marks each. Answers to them should normally not exceed 70 words each.

Question numbers 10 — 12 and 22 — 24 are long-answer questions carrying 6 marks

each. Answers to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.
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SECTION - A

T B UH SR U foramsfiet & Sref & it Hmd w awg ot ferat oft mm s=ht S wendt
B | AW-IY g IEq I AT ur e ived qou W st ], Hiia genty (3mm) 31
3fiea TEfed % s TeY g @ - (T8 faehen giw)

(a)
(b)
(©)
(d)

3Ta I > HHIG SH
a3 = Higid 3
3Na I < HiHid S
IUH | E I3 o TR

A firm is operating in a market where it can sell any quantity of a commodity at a

given price. As more units of the commodity are sold, the relation between marginal

revenue (MR) and average revenue (AR) is : (Choose the correct alternative)

(a)
(b)
(c)
(d)

Average Revenue > Marginal Revenue (AR > MR)
Average Revenue = Marginal Revenue (AR = MR)
Average Revenue < Marginal Revenue (AR < MR)

None of the above

frferfiaa # & i € e Scurer # afg % g fia frdt & 7 (@@ fasew i)

(a)
(b)
(c)
(d)

A TRl AT
RIEIGRSIU]

3d A AT
3Neq fer o

Which of the following cost decreases continuously with increase in production ?

(Choose the correct alternative)

(a)
(b)
(c)
(d)

Total Variable Cost
Marginal Cost

Average Total Cost
Average Fixed Cost
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| 3cdTe <hl ufere S |

Define marginal product.

ITE EWTET Sk o1 elie S RadenTs 91 exiar 2 ?

What does a rightward shift of production possibility curve indicate ?

TR AT § 1 AR 7 ? TR A § Jg A a1t s &l ik Faisy |

What is market demand ? State any two factors causing “increase” in market demand.

T 3TER AT bl THHTST SITST | Uesh EReATcHeh 3ST8LUT shl HEMIAT § 36 STTYRUM hi
89 T TUEET |
S CI

1 T YR FaTsT f8 T IeqTe 9T a5 STUTRa # |

Define marginal opportunity cost. Discuss briefly the concept with the help of a
numerical example.
OR

State any three assumptions on which a production possibility curve is based.

TS HBH Teh TSR SITR H shAd 377 3eq1e & a1 8 o o § wre feft =i et
3 7 GHEST |

AT
qof SfRTATaT # Tk ®H hHq-SlhRe 3R THIUHR | himd-fHaRke = gl g ¢
HHETSU |
Why are firms interdependent in taking price and output decisions under Oligopoly ?
Explain.

OR
Why is a firm under perfect competition a price taker and a price maker under

monopoly ? Explain.
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T IATEH IS o 38 TR W Tge H Hheardl & o T Hid anrd diwid 31
() o FHE B | FT ? FT FeH GHREd i g HHd ARTd 3R HE ST §
THAT 16§ ? HHEST |

A producer is said to be in equilibrium at that level of output at which marginal cost
is equal to marginal revenue. Why ? Is equality between marginal cost and marginal

revenue sufficient to ensure equilibrium ? Explain.

T X 1 5 Ffcrera i e & 3eeht 7 10 wfawrd st & | g Y 6 20 wfwrd Hiwa
g W 3IFh! T 10 Tawrd vt 8 | g% X I I Y Y hHd Wi A H1 qieheH
HITT | X 3R Y & 3 B it a%g 31feh i 8 2

A 5% fall in the price of Good X, leads to a 10% rise in its quantity demanded.
A 20% rise in price of Good Y, leads to a 10% fall in its quantity demanded.
Calculate the price elasticities of demand of the two goods. Out of the two Goods

which one is more elastic ?

@i 1 TRl | SIHIT 1 3719 IA1SU, | $Heh! Sqe hiFd T THE RSy |

Explain the meaning of excess demand with the help of a diagram. Discuss its effect

on the equilibrium price.

hae gI¥E eIt o foTe Iea S 10 & ®WH W
T difetsl <l TEEar o M H1 37 FaET | THH Fod Sind W U9

HHHATLT |

Note : The following question is for the BLIND CANDIDATES only in lieu of
Q. No. 10.

Explain the meaning of excess demand with the help of a schedule. Discuss its effect

on the equilibrium price.
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fr=ferfaa % 3 i -
() FIe @1 I 3 3R el
(@) w9 8 1 37 3R iR
() It s o Y
Jrean
TG Toh ITIRHT o THET Tofe 1T FHIehII 2 :
20 X +10Y =500
FrfaRad sl o1 S G -
() sle 1@ i Jaurdr =1 B ?
(i) e TEd T 500 1 AR T X W = 61 AT a1 I8 Fhat W1 ST T BT
e 7 TOHTE S |
(iii) Ife ag Y Y had T 50% <ht it A 8 @1 Teh 7 Sote [@1 qHishr s fmion
L TYT 7S STe @1 FHiehT 3 yaurd fog |

Answer the following :
(a) Meaning and equation of budget line
(b) Meaning and equation of budget set
(c) Meaning of indifference map.
OR
If a consumer faces the Budget line equation :
20X +10Y =500
answer the following questions :
(i)  What will be the slope of budget line ?
(i) How many units would he be able to buy if the entire sum of I 500 is to be
spent on Good X only ? Show calculations .
(i11)) Construct a new budget line equation if the price of Good Y falls by 50%. Also,

write the slope of the new budget line equation.

6
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12.  3TcUehlicieh 3R Egehlfcetsh 3cITed ®odl H T 3TaC & ? 3AcUehiicleh 3cdied el o
Tarfir=r =or Himid IeaTe o STYR W od1sy | [T ki T <hIfST | 6

What is the difference between short run and long run functions ? State the different
phases of the short run production function on the basis of marginal product. Use

diagram.

e e et @ fore woa s 12 % W W

For blind candidates in lieu of Q. No. 12 only

Heeh1feTeh 3R Erelehiieren IcqTeT Bl o oI 91 3T & ? 3TcUshlicteh 3cTed %eld
Tl =or HiHTd IedTe o STMYR W od18Y | dTfetshl shl SFFT Shiflu |

What is the difference between short run and long run production functions ? State
the different phases of the short run production function on the basis of marginal

product. Use a schedule.

wig —§
SECTION - B
13.  Terelt Srefegemen # 51 (1 97 61d = | (T foshed gio) 1
OREE-REE
(b) @S S
(c) (a) 3R (b) qHl
(d) THR

is the main source of money supply in an economy.
(Choose the correct alternative)
(a) Central bank
(b) Commercial banks
(c) Both (a) and (b)

(d) Government
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14.

15.

16.

17.

58/2

g1 | . AT R 7

What is meant by money ?

Trrfirens =1eT GLhR g T & IUR o <hi STTE9hal & | (T8 foehed gfo)
(a) A PaH

(b) TS o FATET 3T PTAH

(c) &Yt YR % PIaH
(d) P fafere yram

Primary deficit is borrowing requirements of government for making
(Choose the correct alternative)

(a) Interest payments

(b)  Other than interest payments

(c) All types of payments

(d) Some specific payments

HIHT <hl Tora TTfea <hl aieme S |

Define the revenue receipts of a government.

1Tl | <ht FHEn | Faed § o U i yfirehT TmesT |
3T
T <6 e @ e § A STavehdrstl’ i fieh aWesy |

Explain the role of bank rate in dealing with the problem of deficient demand.
OR
Explain the role of margin requirements in dealing with the problem of excess

demand.
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19.

20.

58/2

Ife weh rdIIRI A C = 500 + 0.9 Y 3R =% 1,000 U<
(S&T C = UMW =44, Y = U 311, [ = Famn) 2 |

=1 o1 uftepeta hifsre

(1)

HITH TR TG 3

(i) T U @1 A

If in an economy C =500+ 0.9 Y and [ =% 1,000 crores.

(Where C = Consumption expenditure, Y = National income, I = Investment)

Calculate the following :

(@)

(i)

Heg 1 Sk T “Sohl T Sk HT THATST |

equilibrium level of income

value of investment multiplier

JAYAT

Teh GATcH IGTEXVT h1 TERIAT & T T[UTeh <hl TfshaT THETST |

Explain the “bankers’ bank” function of Central Bank.

OR

Explain the working of money multiplier with help of a numerical example.

RO AT g FHTREd i ToTea =9 3R §SiTa =2 § afiehd shifg -

(a)
(b)
(c)
(d)

CIPER I
KON <hl STt

T Zhgl i W T
e o T W2

Giving reasons, classify the following as Revenue expenditure and Capital expenditure :

(a)
(b)
(c)
(d)

subsidies
repayment of loans
expenditure on collection of taxes

expenditure on building a bridge

9 C1
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22.
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THIST fhH TR T Tie] 3cie (GDP) % e o ¥aeh & &9 H “R-Hifgsh
ot wr e 2 7

Explain how “non-monetary exchanges” are a limitation of the Gross Domestic

Product (GDP) as an indicator of welfare.

Frefaftaa & s T -

(a) L HET % TG R YoIgid o s 3l Farsy |

(b) YA HqeH H T oiFed 3T FHRISH 2 oiFed o s 3T SdTsT, | 39 37at 1
I HEw B 7

AT

HRUT ¢d U FaTsy fob Tfeiaa o1 Tam gge () =T @i 3R defimd @ § 3R
(@) ST (credit) T&1 I A (debit) TeT & fohH JehR got foharm TR

(i) TR0 =1 A

(i) forest & fyaw

Answer the following :

(a) Distinguish between ‘devaluation’ and ‘depreciation’ of domestic currency.

(b) Distinguish between autonomous transactions and accommodating transactions
in the balance of payment. What is the significance of this distinction ?

OR

Giving reason explain how the following will be entered in (a) current account or

capital account and (b) on credit side or debit side of balance of payments :

(1)  Imports of machinery

(i1)) Investments from abroad

10
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(a)
(b)

(@)
(i)

“IrEfereh Hehot ] 3T 1 TRUTHT |
(%) =19 fafer 3t (@) 3 faf¥r g IR hiua | Tehet TE 3T T Iieher
hifS
(Fg 3)
(i) | eI ST uTisfes 100
(i) | Fsft safem 3uvi == 200
(iii) | fommam 20
(iv) | TR 3fom 3 == 50
(v) |<m 10
vi) | == 10
(vii) | Fepe we gSht Fmior 60
(viii) | fraet smm 10
(ix) | 3T STt 1 JTHM 20
(x) | freet svere 30
(xi) | forer @ fraet R 3 (-) 20
(xii) | e | uftgaH 10
(xii) | fufera 3t 110

Define “Real Gross Domestic Product.”

Calculate Gross National Product at market prices by (a) expenditure method

and (b) income method.

(in ¥ crores)

(1) Compensation of employees 100
(ii) | Private final consumption expenditure 200
(ii1)) | Rent 20
(iv) | Government final consumption expenditure 50
(v) | Profits 10
(vi) | Interest 10
(vil) | Gross domestic Capital formation 60
(viii) | Net imports 10
(ix) | Consumption of fixed capital 20
(x) | Net Indirect Taxes 30
(xi) | Net factor income from abroad (-) 20
(xii) | Change in stocks 10
(xiii) | Mixed income 110

11
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24. R ¢d U FarsQ o fferiaa awhey 98t € a1 Terd ?
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(i) 379d s=d Y ThNIcHe &1 &l Fehal |
(ii) ST ITWRT TG 1 Hed Th 31 8 Hohel1 3 |
(i) 37T ITHTT SR 1 Yo Teh & 3TFh &1 Hehell 7 |

Giving reason state whether the following statements are true or false :

(1)  Average propensity to save cannot be negative.

(1))  Value of marginal propensity to consume can be greater than one.

(i11)) Average propensity to consume can be greater than one.

12
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